SRENAINEBILE LK ITE 2 H-KERZE-

g pHil113E ¥ p~ p T A2 B 24TY2D-A-6

71 B

= %906 : 30 fiEh. FﬁﬂBHTEFEEIEEﬁ(@. =YIUN
INEBEEXR)REHEE - PIRBEIBERERIS _
2 #10: 30> FTABRHE > EHEHTAZE>
FiaibtEfHl 9 BREE /NEIFH ZR" :
=11 :20-12: 00—*2‘“1%.ﬁiﬁi'iEEibh?ﬂTﬂIJ.I
=12:00 FEIEEBEEZHRFE "LEFEEas"
=12 : 00 : FELHEFER"FHLIZWIR"
13 : 30-16 : 30 : LLERAYELLRY (?EEE%H*EQE)?;EHFEWE ((?EHEEQ%EE)) i1
AILZRESHEEE - FREKEE - HEREH(EE) - FALZEK  mERRIS
BELELR  BRGBRBENES
16 : 50-17 : 30 8| F=EEIKE =G,  TEEHEHE,  WEZZESEMNERHLUS
K BEEERE LREDR -
=18 : 00 FiEEEEEMIERFE "SHEKEZ "IRE
=19 : 00 23 "EEREE. WIEAGF - BHEKER -
=219 :30-21: 00 EERBEESEHE . ERARBRHZM - FHI ok #IE - =
A RFINIREISFEEBERM - (REEREGERIEREEMUREEZHSE) -
=22 : 00 : (KEFE

B&E: X 8. b1x{53% 350 o/fiI ME: F=HREKMEZ 350 jo/fI

FEERE: tERE - fiHILEWNS - WENEXELR
HHUEREZRUEEB KEEAIR - ikiEIFHERIEEE)




[N

=06 : 30 : REANILIELREER -  REZHER&
=08 : 00 : #FEHEF (UUILERZWESEE) HhE
mEEEBNNIBEABRBERRABRZHNEERE - H15 |
BZESIIREE 19 EBEXRMEER - X
=08 : 30-10 : 20 28T (HU LB FHFMESEE)
AEAREEREEEEEFMIEGRERR - ZE
BN 1500 ARZE 2130 AR - HBE 24 kB - B>
e ThS 500 £ £ 2800 F - EEAEF— =0 HEME I
LIEZAY -
= BSRRSTAMR ZhR SR oK=L . BRERR - KEkmISE(BA 1 FKEN) - IRE
o mIEKEH W TBHER -
=12 : 00 : BIZLER "AILISEERE., EB=R "HEFUMEEeE"
=13 : 00 : HERFALRRETME (EEXE) MEBERAE N RLIEZA
E%;‘%Iﬁ%ﬁﬁ’ﬁﬁﬁﬁ%ﬁ%%ﬁ% IR ERENERE  EMEERLEHH EE8R8
=14 : 00-15 : 00 2E "ZEZRRAE . BR - cEPRE "RERF., (ER"
BEREER"SR)HE "SENFEES, EXRRSEZTTE - RN(BEE) - (FHm
1) SHMEME—KER - RB5IKERMERKE - 2013 FEEE - BITARKEE
R 10 ABAZE 100 A - ZRERB/BRLA 200 AR - 16 LEHABS - REREE - 15
BiESH 70 R)IImE - IERERERRERBRRSZ—  FEZHHEREDN
RIFUR - (BB AXZEZSREARS -
=15 : 40 BERZ"HTEXNZE"
o> R¥EFIE o BESEQRE
> BEAKRRMN > REZLEEMNR
#NBERENREEMAPARRELZFEMMBRITERISEH#
PERERE 8 FUARKESEE 350/ KREIRENX

48

B L B A0t KIS 6 2 H-7KZEEpk -

ULIRETEABKBAEZH | ERKEERERGEEEERE  EFTEEIESRE

TREZHSEHRY , REREREZHRRE - UERAE !

"PARBEBE+NAEEBERHZIK" 30 AL EKRE"~18%HEE BRE~

AAESEEEHZR 6 A EME" ~

#AERTED "h.EAEETE. HEEAT TR . RERETE

# TREMSZ-BENNIIEE ZEUIKERY 2 Ha

e BIEAA: (E—HME)
FEEEEBE _AEB(—AKR)ABE MHAE - -BE -2 XEE - IkREF/E 250 EFEREEH
o LEE . F—XRBE - F_XKRERBAHE

B HhnlKZE = (5/10~8/31)
"NABRRHZIR" 6 AL ERIT(MEE L) SESUIREE 7,600 5T
o (SdhithELiR)EBESMIREE 8,500 7T
o (SihELi) EESMUIREE 8,900 5T
(ER7 = EE A=A 400 7T)
® 6 ALERITTAAEGWRZR)RE (ERLUEHEESERESEAE) -



BN B dbmILIKE R 2 B-7KEMNE-



